w2V

REREERRT

NESR

ENP;)

ING = %F

o 0o ON =2

TISLVE
- REZROLGN O (FFH)
YOFE/ AT FEEDFEETH ST,
- s REZROLGMN O (FIFH)
ZOMHEER

- EERORETH T,

REZBDEMN o= (FFIL)

- BERROT. NETUNAIOHRETERO EEHREL %)

ROLUYDHRERR (2 5HFAE  EREERSIE 1 HRIRE) FEH : SM44E10812, 138
s REfm | TISLUE 3 K 9 A | YAAE/AAA | NE=E | mm
SRHE ) | BB (BE) FARE () | DR ) | BLRE W) | DRE ) BanE ) | FemEm| ()
RHNERE D 00| 000 00| 000 0.0| 004 4.0 0.0 8.1
" @ 0.0 004 40| 000 0.0 0.00 0.0 0.0 9.4
ABILET D 0.0 000 00| 000 0.0 0.00 0.0 00| -
V) 0.0 000 0.0 000 0.0 0.00 0.0 00| -
R4%& 00] 00 10| 000 0.0] 00l 1.0 0.0 8.8
T BE | 1 i i i i i 1 (i) -
T (BIE) 00| o002 14| 000 00| 002 1.7 0.3 55
R3%E 00| 00 08| 000 0.0 006 3.2 0.0 72
R2%& 00| 012 40| 000 0.0 0.00 0.0 1.3 5.5
RITE 0.0 000 0.0 000 0.0 0.00 0.0 0.0 6.9
T o1y H3 0% 00| 003 30| 000 0.0 0.0 1.0 0.0 5.5
H2 9% 0.0 000 0.0 000 0.0 0.00 0.0 0.0 4.2
H2 8% 0.0 0.0 10| 000 0.0 008 80| - 7.0
H2 7% 0.0 000 0.0 000 0.0 0.00 00| - 4.5
H2 6% 00| 002 20| 000 0.0 0.0 10| - 4.7
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R4 & 0.0 25.0 0.0 25.0 0.0
EE(BIE) ifi if if i (3fr)
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Fig= H3 0% 0.0 50.0 0.0 25.0 0.0
(%) H2 9% 0.0 0.0 0.0 0.0 0.0
H2 8% 0.0 25.0 0.0 50.0 -
H2 74 0.0 0.0 0.0 0.0 -
H2 6% 0.0 25.0 0.0 25.0 -
H2 54 0.0 50.0 0.0 25.0 -
H2 4% 0.0 0.0 0.0 0.0 -




